Total No of Prmted Pages—3 -
1 SEM TDC. PSCH (CBCS) c 1

2'0 2 2 o
'(- :'N'ov/De'c')
POLITICAL SCIENCE
( Core ]
Paper : C—l B
( Understandmg Pohtical Theory )

Full Marks 80
Pass Marks 32

Tt.me 3 hours

The ﬁgures in the margm mdzcate ﬁJH marks
for the questlons L

1 Answer the followmg as dlrectcd " 1><8=8

f{a) Who -is the author 01" the book
~De Civitate Dei? SO

{b) “Men is born free and everywhere he 1s _
- in chams » Who sa.ld thls? ' -

{c) 'W'ho wrote the book, A dezcatton of the
R:ghts of It‘/'cnrnt:m‘J

'_(d) Who ﬁrst used the word. ‘State’?



2..
150 words each) :

'Wnte short notes on the follomng (within
' 4x4—16 "

(2)

fe) In which year was the Magna Carta:

. signed?
{f//, Who is the exponent of Utilitarianism?

{9) Which day is celebrated as the
. ‘International Day of Democracy’ as per
the United Nations Declaratlon?

i) March 8
- f) September 15
' fiii) November 12
- fiv) December 10 _
[ Choose the correct optmn )'._

' {h) .Wl'uch is the only country in the world.

to have direct democracy?

{a) Decline of pohtxcal theory

o {b). The concept of ‘class struggle
: fe) ‘Patriarchal State

) Methods of direct democracy

- Answer . the follomng {within 500 words each)

3-

P23/96

Dl_scuss. the-lmportance of _pohtzcal theory to

__the_'-study.of Political Science. 12

or

"What is behawourahsm? Mentmn 1ts main
'.charactenstlcs T . 12

 ( Continued ) .

Ry

_‘Define llbera.llsm Expla.m the basic tenets of
: hbera.hsm o

: - 4+7=11
. Or. _
Discuss 'the_ various issues relating to

" multiculturalisin in the contemporary times. 11

What 1s Radtca.l femmlsm? Discuss its core

5.
' features o 4+7—11
* Define pest-modemism._ Distinguish between -
modernism and post-modernism.- - 4+7=11
6. Discuss Marxist critique of citizenship. 1
_ Define citizenship. Explain the methods of
. acquiring and losing citizenship. - | . - 4+7=11
7. ‘What is deliberative ‘democracy? Cﬁtieally
_ assess the techniques of “deliberative
.. democracy. : : L 4+7=11
K Examme -the--:_'elation between - democx'a_cy- :
and - development. in the context of
'contemporary trends S S 1
Ak ko -
P23—21000/96 1 SEM TDC PSCH (CECS) C 1
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POLITICAL SCIENCE
( Core )

. Paper : C-2

{ Constit_uﬁonal Government and
Demaocracy in India )

. Full Marks : 80
Pass Marks : 32

_ Time : 3 hd_t':lrs .
The figures in the margin indicate full marks

- for the quest:ons '
1. Chdose the correct answer : S 1x8=8
: (a)- | Who bresided over the_ first meeting of -

. the Constituent Assembly of India? -
' fi) Dr. Sachchidananda Sinha
(i) Dr. B. R. Ambedkar -
- {ifi) Dr. .R,aj_endra Prasad _
' '_{iv} Pandit-Jawaharial Nehru

 P23/97 | -  (Tum Over)



_(_3'

(2)
{dj The representﬁtwes of the States in thef _
. e of
(b) Which of the following Constitutions o  Rajya Sabha are elected by which on
influenced the Constituent Assembly in ; the following? '

developmg the principle -of parlia-

fii The Chief Minister of the State
mentary democracy?

o (i} Elected members of the 'State .
9 Conadian Gonsticuton | Legislature .

' State
(i) British Constitution e (i#) The Governor of the 3

{iv} The President
(i) American Constitution

" ' tirement of the judges of
- ituti {e} The age of re nen
7 Froneh Constiaion ~ the Supreme Court is

i) 62 years’

f¢ An individual can be appointed as

_ ;' - (i} 65 years

a member of the Council of Ministers 'i -

but he/she has to become a member | (iii} 58 years
of either House of the Parliament mthm J

" a period of : ! fiv} 60 years
") 1 month ‘

| {# Who may act as the President dunng
P ' the. absence of the President and the
9 2 months J Vice President of India? |
(1) The Speaker of the Lok Sabha
{if) 3 months _ o _
P (i) The Prime Mim.ster |
fiv) 6 months . | _

. ' | { Turn Over }
: _ P23/97 - _
P23/97 _ ' { Continued )




@

P23/97

(4}

(i) The Chief Justice of the Supreme
Court '

iv) The Home Minister

Who was the Prime Minister of India
when the Emergency Rule, 1975 was
proclaimed? ' '

) Rajiv Gandhi
(i) I'ndiz;a Gaﬁdh.i
(iii) Morazji Desai
(i) P. V. Narasimha Rao

In which yeér was Balwant Rai Mehta

Committee formed?

) 1957
@) 1977
i) 1986

fivj 2011

{ Continued }

(5}

"Answer the folloﬁfing (within 150 words

each) : 4x4=16

{a) Write about the Gandhian ideology
in the Directive Principles of State
Policy. '

(b} Examine the legislative powers of the -
President of India. o

(c/ What is judicial activism? -

{d). Point out the major areas of Centre-

State tension in India.

Write a brief note on the Preamble of the
Constitution of India. Discuss its significance _
in the Con_stitution. : - T+4=11

Or.

Discuss the irnportant features of Indian
federalism. Is the distribution of power of
the Indian Constitution federal? Give

reasons. _ - THRld

P23/97 S { Turn Over )



(6)

‘4. Discuss the emergency powers of the

. President of India. 11
Or
Discuss the 'pfocess of legislation in "_che
Indian- Parliament. 11
5. What is judicial review? Examine the
relevance of the concept of judicial review in
~ the context of constitutional amendment and
- legislation in India. 4+7=11
Or
Discuss the composition, poweré and
functions of the Supreme Court of India. 11
6. Examihe the legislative relations between
- Centre and States in India. 11
Or
Discuss the importance of the Sixth
Schedule for preserving the interest of the
Scheduled Tribes of North-East India.
P23_I97 { Continued }

11

(7))

7. Explain the evolution of local self-
government in India under the 73rd
Constitutional Amendment Act.

Or
Discuss the major challehges before
decentralization and local government in

India. Give the recommendations for the
betterment of decentralized system in India.

* & ok

P23—21000/97

12

6+6=12
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ENGLISH
{ Core )
Péti:)er 1 C=1
( Indian Cﬁséiéal_ Literature ) -

Full Marks : 80
Pass Marks : 32

Time : 3 ‘hours
The figures in the margin indicate Sfull marks | _
for the questions
UNIT—I

. { Classical Sanskrit Drama ) -
1. Answer any one of the following : 15

fa) Discuss how Kalidas portrays the
emotional farewell of Shakuntala from -
the hermitage of sage Kanva to King .
Dushyanta’s palace. :

| (b)) Make a critical assessment of sage |
Kanva’s character. o

P23/93 . . (Tumover)



(2) o - - (3)

{cj Write a note on the female characters in 4. Answer any one of the following : 5

Abhijnana Shakuntalam. : . :
: {a) Write a mnote on the role played by

2. Answer any one of the following : 5 Sanjaya in The Mahabharata
(a) Discuss briefly how Sarngarava and {b) How did Krishna try to win ever Karna
Saradvata . tried to convince King _ to the Pandavas? Write in short. ]
Dushyanta to accept Shakuntala as his _ - {¢) Attempt a character sketch of Kunti.
wife. | UNIT—III
{p} Discuss the events that led to sage

_ ) ) - ( Sanskrit Drama }
. Durva cursing Shakuntala.

{c} Attempt a brief character sketch of | 5. Answer any one of the following : = - 15
Madhavya. ' ' (@) Attempt a critical assessment -of
_ UﬁIT;II ' o o ‘Vasantasena .as a New Woman’_ from
: _ _ your reading of the  play,
( Selections from Epic Sanskrit Literature ) ' o Mrichchhakatika -
3. Answer any one of the follbwin‘g : - 15 fb) Discuss the rna_]or social issues of
. : - - :  contemporary India as dep1cted by
{a) . Make a critical assessment of Karna’s -. _ | Shudraka in Mrichchhakatika |
~character from your reading of The ‘{c} Discuss Mnchchhakattka . as a
Mahabharata : _ : ~ ‘Prakarana’. ' o
() Discuss the roles played by Lord . 6. Answer any one of the following T 5
Krishna and Shakum in The Dicing and ' _
" in The Sequel to Dtcmg fa}  Discuss how the marglnahzed class is
L : - presented in Mrichchhakatika -
(¢} Discuss the events . that -made S ' (b) Attempt a  character- sketc_h of
- . Yudhisthira join the game of dice, and _ - . Madanika. - = - .
relate ‘its ~ disastrous consequences : {c) Attempt a short note on the use of |

culminating in the Kurukshetra War. B ' humeour in Mnchchhakatlka.

P23/93 . X | . (Continued)  P23/93.° - . (Tum Over)



B3

(4)

UNIT—IV
{ Classical Assamese Drame }

7. Answer a.ny one. of the following : - 15

{a} What is an Anklya Naat? How many
~ Ankiya * Naats were written by
 Shankardeva and what were those?.
Discuss the characteristic features of
the Ankiya Naats. - : 3+3+9=15
- {b) Discuss the role played by the following
' characters in. Parijata Harana ;. 5+5+5=15
 {i) Narada '
. (if) Sachi _
{m} Satyabhama
{¢). Discuss how Lord Knshna is presented
as an incarnation of Lord Vishnu and
also comment on the role played by him
asa lovmg husband in ParyataHarana.
'8, Answer any one of the following : S
- (o) Attempt a. bnef character sketch of
- Rulkomini.
(b} Attempt a short note on the battle .
- between Krishna and Indra.

{c} Attempt a comparison of Rukmini and
Satyabhama from your readlng of the
play, Panjata Harana.

* * K

P23—6500/93 "1 SEM TDC ENGH (CBCS) C 1
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~ ENGLISH
" { Core )
Paper : C-2
( European Classical Literature }

Pull Marks : 80
Pass Marks : 32

Time : 3 hours _

The figures in the margin indicate full marks
. Jor the questions '

UNIT—L

1. Answer any one of the following : - 15

fa) How. far is it correct to say that “The _
author of The Hliad interpretes the world .-
by taking the passions of the gods to be
the determining factors of what happens
on the human level”? Does the
statement explain the significance of the -
Homeric gods in The Tigd?

P23/235 | o ( Turn Over )



(b}

(c}

(2)

How does war bring about honour as .

well as horror? .Discuss with reference
to The lliad. '

Through the contrasting yet similar
careers of Achilles and Hector, discuss
the idea of heroism in The Hiad.

2. Answer briefly any one of the following :

(aj

)

(c)

Comment on the tension between

military defined ' values and military
- adventurism m The lliad.

Give a brlef sketch on the F‘uneral
Games in The Iad.

Write a brief note on the animal and

. elemental imagery in The Iad.

UNIT—I

3. Answer any one of the following :

(a)

(%)

o

P23/235

“Although Antigone is given the status of

~ the protagonist of the tragedy, yet Creonr
remains its central character.”

Discuss
Creon as a classical Aristotelian hero.

Evaluate .the conflict between human

and divine laws in Antigone.

Bring out the part played by the
supernatural forces in Antigone. -

- { Continued )

(@)
(b)

{c)

(@)

)

{ 3)

_ Answer briefly any one of the 'following :

Write a note on the character and role of

the Sentry in Antigone.

Comment on the function of the
entry-song of the Chorus.

Give a character sketch of Tiresias or
Ismene. : : :

UNIT—IIT

Answer any one of the following :

15

Discuss The Pot of Gold as a satire on =

avarice and miserliness. _

How does The Pot of Gold shed light on
the position. of women in society,
particularly with reference to the system

~ of dowry? Give instances to substantiate

15 fd

{a)

(b)

o)

P23/235

your answer. -

Enumerate the social and moral

- contents of the play, The Pot of Gold.
Ahswer briefly ar_iY_"oné of the followif.h_g :

Write a short note on the i‘;iie of the _

Plebeian in The Pot of Gold.~

Comment on the comedy arising from
Euclio’s dealings with the slave in The

Pot of Gold.

.What are Megadorus’s views on the

subject of marriage?

- { Turmm Qver )



(4]

UNIT—IV
7. Answer any one ol_':' the following :° 15

{a} Discuss Philomela’s creative act of
weaving her story in a tapestry as a
form  of resistance ~in Ovid’s
'Metamorphoses, Bk—VI ' B

(b) Examine the responses of everyone,
including the victim, with respect to the
rape of Philomela.

<) In Satire 1. 4, Horace credits his father

 for the lack of ‘the acid of malevolence
'in his wrltmg How - was his father
responsible. for his . training and
education? '

8. Answer briefly any one of -the-following : -5
fa) Comment on the role of the Furies in
the decidedly inauspicious - description

.of the weddmg between Tereus and _
Procne

. (b} _ Comment on the theme of lust in the
story of Philomela.

{cJ _Analyze the mﬂuence of L‘LlClll'LlS on
Horace. -

*kk

P23—6500/235 1 SEM TDC ENGH (CBCS) C 2
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- ASSAMESE
( Core )
“Paper : C-1
( = AleR [ )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

. The figures in the margin indicate full marks
- " for the questions o
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(2)

() mwﬂamq’a@mmwﬁﬁﬁ?
() T R e o SR 2
(%) ﬁ@ﬂmﬁmﬁﬁﬂﬂi@?
(=) m&rﬁmsﬂwwmﬁvﬁl |

21 (F) wRm siffeRr y-Remm FererRee WN |

TEY T | TR @R P-Rewn o
qﬁw\fiﬁ{w,{ﬁWﬁWW|

WHI=D¢ _

(4) STOrEY M4 TR WS SR e
gy -Rome o o I g L e

ol (3) GIETeI WAEFE Sae $R SR SHES
aofere SEPEEE @Rz Gft AREPEe

A JES FR L . 8+do=38
(7) =y ooEm ke {eee R g@ e o8 SR
At fred Bovd ‘Rer's Rear o
wgeEmm AR A . . 8+do=3s

P23/231 ' {Continued

(3)

81 (%) AR PR e FReR AReT Wl R
r@ﬂﬁwwﬁmaﬁmﬂw

4 | O+IR=dE
oy |
(1) SR TR T o Gm gEs
el | se

¢ (®) Tomt wRT w-efe Tk o
 gS | 3
%4

(%) ‘*m?r{ﬂamﬁﬂataﬁﬁ %L‘@W
35S F |

o1 wmﬁﬁ(ﬁmfﬁ): o NN
(7) e TR
(@) IR =R S
() S o T
.('a) A R

% ¥

P23—18*/231 1 SEM TDC ASMH {CBCS) C 1



-Total No. of Printed Pa.ges—a _
| 1 SEM TDC ASMH (CBCS] c2

'2022'
{ Nov_/_Dec' }
ASSAMESE
(Core )
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T!me 3 hours

The ﬁgures in the margm mdmte Sfull marks
for the quest:ons
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2022
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- HISTORY
( Core )

Paper : C-1
{ History of India—I )

Full Marks: 80
Pass Marks : 32

Time : 3 hours :

The ﬁgures in the margm indicate full marks
for the quest:ons

1. Answer the follo'mng questtons in- one word
or in one sentence each : _ 1x8=8"

{9 'Who engraved the Haﬂugunqaha Pdfar |
' mscnptmn?

{b) What is Carbon—I 4?

{¢). What is the full meamng of the Latin -
: word ‘Homo sapiens’?

{d) Which ageis known as Microlithic Age?

P23/236 - (TumOver)



PQS/2_3_6 :

(2)

fe/) Mention a characteristic of hunter-
gatherer societies. .

() Where is the ancient settlement Amri
situated? :

{g) What is the meaning of Mohenjo-daro?
() What is the full form of NBPW?

Write short notes on any three of the
following : '

{aj Puranas
{b) ? Cave paintings of Bhimbetka

() Palaeolithic culture

(4] Burial system of Harappan Civilization

(e} The status of women in ancient Tamil
society S :

'_ Give a brief dé'script'i:dn' on ‘the'i.tl_npdftance -
the archaelogical sources of Ancient India’. 12

- Or
Review the ‘modern principle of purposive
approach of interpretation’ with special
reference to gender and environment.

| 4x3=12

{ Con_tinued )

P23-—12%/236

(3)

. Give a brief account on the ‘characteristics of

hunter-gatherer societies’.

Or

Describe the ‘main characteristic features of

Mesolithic Age in India’.

Why is ‘Neolithic Age considered as nj.érking
a revolution in man’s life’? Discuss in detail.

Or

Write an essay on the advent of food

production in the Neolithic Age’.
Narrate the ‘main features of town planning
of Indus Valley Civilization’.

| Or

What was the ‘importance of agricultural and
craft production in Harappan economy’?

Discuss about the ‘Painted Grey Ware (PGW})
culture’. '

Or

Describe  briefly the features of th_e'
‘Megalithic Culture of India’. '

ko Kk

12

12

12

12

1 SEM TDC HISH (CBCS) C 1
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HISTORY
{Core )
Paper C—2

( Social Formation and Cultural Patterns
of Ancient World }

Full Marks : 80.
Pass Marks : 32 .

sze : 3 ho'urs

The ﬁgures in the margm mdr.cate ﬁﬂl marks
' for the questzons L

1 Answer the follom.ng m one word or in
. one sentence each L S 1x8= 8. E

“(a) Whmh Age was known as Eplpaleohthlc?
L {b} What was the tltle of the klngs of Egrpt')
o What 1s Mastaba° ' '

" {d) Who called himself as the God of
| _Akkadoi;_--' - |



(2)

fe) What was Shangdi?.

{f) Who was the author of the book,

Works and Days?

" {g) Who said that slavery was a natural

evil? -

" - (h) What was '.Eisphora? '

‘Write short notes on any tfu*ee of the
_ _followmg :

4x3=12

{a) ‘Aurignacian ctilttire

(b} Religious .system of Ancient Egypt

* {¢) Minoan art and architecture -

{d) Ancient Greek colonies in the Aegean

Sea

(e} Greek architectu__ré

_Brieﬂy ~discuss - the h_istorjt of Animal

- Husbandry. What was its impact? =~ 8+4=12 =
" "Write a note on the Mesoli‘c_li-ic--"3cu1ture. 12

) Discuss - the features of the Sumena.n _
- Civilization. S : 12

' _erte a note on the Phoemman thzatmn

5. .Discuss the advent of the Iron Age in
Anatolia. _ - 12
or o
What were the implications of the advent of
iron in the ancient world?
6. How were the slaves treated in Greek
~ society? Compare the condition of the slaves
in Athens and Sparta. 8+4=12
' Or
Briefly discuss the role of slavery in Ancient
Greek society and economy..
7. Discuss the administrative system of Sparta 12
Give an account of the growth of hterature
and drama in Anc:tent Greece
Jek K
P23—12¢/8' 1 SEM TDC HISH (CBCS) C2
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2022
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ECONOMICS
( Core)
..Péper :.-C—.l o
{ Introductory ﬁicrgegojnomics )

Full Marks ;: 80
Pass Marks : 32

’I‘tme 3 hours o a

The figures.in the margm mdwate ﬁzH marks
. Jor the questzons

1.. Answer the following as directed : . 1x8=8

(a) The rational consumers, producers and
 workers make the optimim choices ot .
" “decisions onthe basis of the ___

principle. - . :

~ (Fill in the blank )

P23/162 _- . (Turn Over)



®)

(2)

‘What is rationing?

(¢} The quantity. Idemanded of a Giffen good

@

| P23/162 -

varies _____ with price.
(i) indirectly |
(i) directly

(i) mdependently

(w) All of the a.bove

{ Choose the appfoliii‘i'ate' answer )

The cross-elasticity ' - of demand

estimates the proportionate relatlonsl'up

between

i) quan;i‘ty demanded of a commaodity
and - the" price of its related
commodity '

i) quantity demanded of a commodity

and its price

| i) quantltydema.ndedof a _conﬁnodity _

~ and the income of its purchaser
(iv) None of the above

{ Choo'se the appropriate answer }

( Continued )

i
i
I
i
i
]
|
I
!

e}

(g}
th)

For perfect complementanty between .
two goods X and ¥ -

) MRSyy will be zero .
fii) MRSYX will be zero

(i) MRSzy and MRSYX both will be
Zero :

{iv) None of the above

{ Choose the approprlate answer )

With which of the _foll'owing is the

~concept of MC closely related to?

(i) . Variable cost.

(i) Fixed cost

{fijj Opportunity cost

fiv}- Economic cost -
.(_'_Choos_e the ob[;ropriate answer )

What is anﬁtrtiet policy?

When is there xmperfect competltlon in

the factor ma.rket9 _

i) VMP = MRP -

(i} VMP >MRP .

ﬁu) VMP < MRP

- {w) None of the above o |

P23/162 -

( Choose the appropnate answer ).

_ { Turn Ovef}. '



Answer the following questions (within 500 words

{ 4")

‘Write short notes on any four of the following
4x4=16

(within 150 words -each) :

fa) Goals of MAaCroeconomics
(b} - Individual demand and market demand

{c) Budget constraint

{d) Diseconomies of scale '

(e_} Shift of input demand curve

each) :

.3l

P23/162 '

(a) What is microeconomics? Explain the
. following usmg suitable diagrams. :

2+3+3+4=12

{i) Micrd-s_tatistic_s _
- i) Micro-comparative statistics
© {if) Micro-dynamics -
Or
(b) (i) Examine the role of assumptmn in

model bulldmg

(i:) Write a note on command and free
market economlc system.

4

{ Continued }

4. ‘(a)

)

'5. {0

P23/162

‘demanded of a commodity :

‘determines optimal choices.

(5)

fiii) Explain the uses of graphs in
economics: : 4

Explain with the proper dlagrams the

effect of the following changes on the

equilibrium = prices and quantity

4+3+4=11

{ij Changes in the income of consumer

{ii} Equal_ ‘changes - in demand and
supply ' : '

(i) Uﬁfavoufa_ble changes in the taste
of buyer of the commodity '

Or

What do you mean by price control?
Explain the effect of taxation on
consumer surplus, producer surplus
and on the efﬁmency of the market.
3+8=11

Write the assumptions of indifference
curve analysis. Explain with the help of
indifferenceé curve, how -a._ consumer
C4+T=11

{ Turn. Qver )



)

" Explain the income effect in case of

)

7. (a)

P23/162

( 6)

Or
Define income effect and substitution.
normal inferior and Giffen goods with

the help of Suitable diagram, 2+3+3+3=11

Explain 'w'hy" the shofi:érun AC and
long-run AC curves are U-shaped. Why
is LAC curve flatter than SAC? Why is

_ L&C curve called as envelope curve?

4+4+3=11
.' Or.

What are the basic objectives of a firm?
Discuiss how a firm maximizes its profit
under. perfect cempetltmn in short run

and long run. - 2+9=11

What are the basic characteristics of

input market? Explain the derivation of
input demand curve—

i) when a ﬁrm employs one vanable
factor of productmn

(11) when a firm employs two variable
mputs of production in short run
and long run. =~ . 3+4+4=11

| { Continued }

(7))

Or

(b} What are the firms’ profit maximizing
condition in input markets? How is
equilibrium of a firm determined in the
labour market in the short run and
long run? : : - 3+8=11

kkok
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The figures in the margin mdtcate full marks

for the quesnons
1. Choose the correct option P N | 1$<:8=8
(a) If A= 0,2 4, 6, 8} and B={2,6,4,0, 8);
- then .
fi) A=B N @-A¢B
(i) A2 B i) A<B

(b} The symbol used to denote null set is .
e _ i v _
i) © - ) x

. P23/163 -



3
(2) ( 3 )

. o e*dx =
{c) If n=2, the below polynomial function _ (f)._ I _ _ _
- fi=ag +a1x+a2x2 +agx® +orayxt : ) et (i} e’ +c

will- be known as (i} loge+c fw) x+c

i) constant function :
o @ [3xdx=
fii) linear function ' _ _
' : ) 134 i) 124
{iii) quadratic -function ,
| fii) 114 : fiv) 104
fiv) cubic function - R .
o _ {h) A function is said to be continuous at

._ (d)..%(lo.+5x2)2x3 = a point x=a,

fi) 2 4 (i) lim f(9 exist. _. |
7 60 -50x7 x—a |
(it} 60x3 ) 5.(:4 ' (i) lim f{x) exist and lim f(x) = flq)

XT + X x—a . r=a : )

(i) lim f(9=1l@

"(i'v). 2053 __-|;_1.0x'5' T e - . ! {iv) None of the above -

i) 60x2 +50x3

" {e) The correct relationship among average o 2. '.An_swer any. four of the fdﬂqwi'ng v 4x4=16
;iv;n:l; éAFl, r?a;-gmal-drgvenue (MR} | N fa) I A=13,7509 ‘and B={}36, 7},
- and elasticity of demand 1s : . then find the union and intersection
() eg = AR : - _ ' of sets A and B. '

R : {b) From the given total cost (TC) function,

i) ey == MR S .. find the average cost (AC), average
-  AR-MR ' : ‘variable cost (AVC), average fixed cost
C AR o : - {AFC) and marginal cost (MC} :
() €a = MR-AR - e -
| - MR-Al TC==0% +70% +130+237
: ~ MR-AR

o _ : : P23/163 _ R = { Turn Over }
P23/163 - { Continued )} . _ _ ' S



{c

()

(e}

3. (@

(b)

P23/163

(4)

The total revenue (R) of a firm per day
is a function of its daily sells {Q) :

R=20+50

“The firm sells maximum 50 units of

output per day. What are domain and
range of the revenue function?

Check whether the following function
—4x+4
(-2}

is continuous at point x =2.

y_

Calculate the elasticity of supply of the
following function when price (P) =

S =~100+2P

i} Given A={4,5}, B={3,6 7, and.

C = {2, 3}. Verify the associative law’
of set operatlons

_{ii) Among 120 collegc students 75

students like to. play cricket and
65 students like to play football
If each student likes to play at least
one of the two games, how many

students would like to play both

. cricket and football? _

{iii) ‘Define variables, constants and
parameters with example.

fii In case of ordered pair (g b} # (b, a)
“unless a= b, Explam

3

{ Continued }

(4

(i)

(i

(i}

b b

{5
If. _
A={g bcd xyand B={h d x, Y}
then find A-B and B-A. 4
Deﬁne' the folldwing with

examples : - o B 4
(1) Equivalent set

(2) Disjoint set

(3) Universal set

(4) Finite set

Draw the graph of the following

function : 3
= Ix!+2

Write short notes on constant

function and logarlthmlc functlon 4

Find the sum of squares of first 9 _

natural numbers. : 4

lllustrété' the concept of limit of
a function. Evaluate the limit of

~ the function

i)

P23[163 '

. x%2-16
Im :
. x-7 x+4

3+4=7

‘What " do you' understand by

sequerices . and  series?  Give
examples. _ 4

' { Turri Over )



(6)

5. (a) (i} Find the derivative of the following

(i)

z

P23/163

(iti)

function using product rule of
differentiation : : 3

y=[9x2 -2)Bx+1) |
Consider tﬁe demand function

g=500-10p. Compute the price
elasticity of demand when p =30. 4

Given the total cost {C) fuﬁ_ction of
a firm as follows

| c=10000+100(_)—10(;_)2_%93
Find the level of output at which

marginal cost is equal to average
variable cost. : 4

Or

A consumer has a following utility

- function = -

U=fl0)= .ﬁQb., where a>0; b<1

Show that the utility function

' display  diminishing  marginal

(i)

utility.. o _ : 4

Given the consumption function
C=C{Y)=100+0-6Y, where Y is
income. Find ‘the marginal
propensity to consume (mpcj and
marginal properisity to save (mps). 3

( Continued }

{iti)

(7)

A firm has the following total
revenue (TR) and total cost (TC)
functions : - '

TR =1200Q - 202

TC = Q3 -61-25Q% +1528-50 +2000
. Calculate the profit maximizing

" output and - the magimum profit.

6. (@ (i}

i}

(i}

® .
~ when'MPC =0.5 _}— with aggregate

{ii)

P23/163

Evaluate :

' ISézx+ 3 dx
Derive the tofal cost. functioﬁ from
the given marginal cost function :
o MC=2x% -3Jx+4
when the total fixed cost is 200.

Find out the point elasticity
of demand frem the following

marginal revenue function :

MR=20-0.20Q, when Q=5
Or

Find = the :_qoh'éui:riptidn function

JY

consumption 100 when income is

ZEer0.

Determine the increase in the

total revenue from the following

marginal revenue function when
sale increases from 8 to 12 :

MR = 30 —4Q

4
3

( Turn Over j



(i)

7. (@ f)
(i)

& )
(&)

(8)

Find the consumer surp.lus from
the following demand function
when market price (P) is 12 ;-

0 =60-27

Explain the role of differential
equation in economic applications.

Examine the following market

model for stability :

Oy =14-3P

Qs .=._.1.0+2.P".

E“q'(od - Q)
Or

Sblve the differential equatidn

= +8y=4 wh 0) =2
ax YTt en y(0) |

In reference to the following
differéntial  equation,  explain
a standard first-order linear

differential equation with constant.

coefficient and constant term :

%w(xlyw{x)'

What is . a homogeneous

. linear differential equation? Give

“example..

P23—6000/163 "1 SEM TDC ECOH (CBCS) C 2 |
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for the questions

1. Answer the foliowmg Cmestlons o ix'8=8

. {a) “Educatlon is ‘the creation of a sound.
mind in a sound body.” Who saud_thls'J

(b) What is the narrow meamng of 3
-‘educahon‘J :

{) What .is the etymologlca.l word of
phllosophy'P : -

L (d).- ' M_entlo_n_ ~one | _feat_ﬁre of-. - Indian
\ ~ philosophy. ' S
P23/90 © - {Tum Over)



(2 ) o | (3 )

(e) Who is the writer of Yoga Sutra? 5. What is Advaita Vedanta? Discuss briefly
o _ the educational implications of Vedanta
(f} Write one supporter of naturalism. philosophy. _ . o 4+7=11

Who t book, Emile ? .
9 o wrote the hoo o e : What are the basic features of Yoga

philosophy? Discuss the impact of Indian

(h} Write a general principle of curriculum schools of philosophy in present system of

construction. .

education in India. 4+7=11

2. Write short notes on the following : - 4x5=20 : - 6. What is pragmatism? Discuss the basic
: _ : principle of pragmatism. _ 3+7=10

" {a) Individual aims of elementary education . Or ' :

What_ is naturalism? DiscﬁSs the
contribution of naturalism in the field of
education. =~ _ . 3+7=10

(b) Philosophy and aims of education

() Eightfold Path of Buddhist philosophy

] R ) . 7. Write the meaning and objectives of -
 {d) Idealism and aim of education ' '

cocurricular  activities. . Explain  the’
S . ~ differences  between - syllabus  and
{e)  Activity-centred curriculum : curriculum; - - 2+3+6=11
* %k %

3. What are the s_co.i:_ués__ of education? Discuss
briefly the functions of education. 5+5=10

4, ‘What is - the 'meanihg of philosophy of
education? Write the nature and scope of
philosophy of education. . 2+4+4=10

o P23/90. . - . ({Continued )  P23—11500/90 1 SEM TDC EDNH (CBCS) C 1
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1. Answer the following questions :  1x8=8

fa) “Educatlona,l Sociology is the study of
- mteractlon of the individual and his .
cultural environment.” Who said this? _

b) Mention  one differen.ce" between -
Sociology and Educational Sociology.

{c) State one process of socialization.

{d) Write one factor that promotes somal
moblhty Lo '

P_-23/234 o | - {Tum Over)



- Sociology.-

'P23/234

- Write short notes on the following :

2)

{e} What are the two types of culture?

(f What is meant by.
development?

economic

(g9) Write any one characteristic of
demOcracy.

- (h) What are the meanings of the words

‘demos’ and ‘kratos’?

{a) Need of sociological approach in

education '

(b) Educatwn and somal stranﬁcatlon

(C) " Role of educatmn 1n cultural change
(d} Social disadvantages in Indian society

(e) Nature of education in democr-é.éy

What is Educatienal S_0ciology? Write the
nature and characteristics of Educational
' o 2+4+4=10

Or

What is Educahonal Socmlogy’-) Dlscuss the
functzons of Educatxonal Socmlogy

. 4x5=20

2+8=10

 { Continued )

© P23—11500/234

(38

Write the méaning of social mobility. Discuss
any two types of social mobility. Explain the
role of education in social mobility. 2+4+4=10

What -is_melaht by social change? Mention
four characteristics of social change. Discuss .
any three factors of social change. 2+2+6=10

Or. _ _
Discuss the relationship between. Education

and Social Change. .10

What is . social group? Write four
characteristics of social group. Differentiate
between pnmary and secondary group.

2+3+6 11

Discuss the role of educauon in mculcatlng .

‘democratic’ values. o s 11

Discuss the importance of secular education

in the context of present Indian society. - 11
* ok ok
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